P S Rl RtTE T TETRRD F0.15F -
S SR TSSOSO SO IO T SO I S
\% “F v “F
0.05F -+ .

.........

—0.05f -t b B
_0.1:_ ......................................
1| SRR EEEETEETE FETPPRERPRTR: EEPEPE EPLPL-D FERERIED
9_&2: L1 T i
g F
04 1:— ''''''''' Hhn i 1:_ 1]
0.5f==-mne BE 8 R 1 ) S S R OSE VIRl
-1 2 3 0 -71 = 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamliné[f)
—s=— DQM_V0001_R000000001__Global__CMSSW_ckfnocut3_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mknocut3_RECO
3 100 E 100p
I o1 Y e R LR EEEEEEEEEE ook f EEEEEEEE = 80F------
N - N L
N <10] S EEEETD EPCTEPEPEEEPEEEEFERREREREER e | EREPEPS 3 60
2 A © r
V{0 e AT EECEEECECRI SEECECERE (oo § REEREREE Vv 40
........ 20 :_ R
........ 0 :_ e
—20 -+
-40 :_ ......
-60 :_ ......
-80 :_ .......
.9—100: Lt
g 1:— """"""
0.5 --rrenmmantennns :
0 ] L ] :
107 1 107 1

<op/p. > (70)

Ratio

4

1071 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


